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1. SUHTE] QU A9 a1 H & It &/ |
Candidates are required lo give their answers in their own words as far as

practicable.
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Figures in the right hand margin Endim{e‘ﬁﬂl marks.
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15 minutes of extra time -have been allotted for the candidates to read the questions

carefully.

4. 9 9V 3 GV H & — WVE-I 04 gUB-T/
This question paper is divided into two sections — Section-4 and Section-B.
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In Section-A, there are 60 objective type questions, out of which any SO questions

are to be answered, Firs 50 answers will be evaluated by the compuler in case

more than 50 questions are answered. Each question carmes 1 mark. Darken the

circle with blue / black ball Pen against the correct option on OMR Answer sheet

provided to you. Do not use whitener/ liquid / blade / nail etc. on OMR-sheet,
otherwise the result will be invalid.

).
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In Section-B, there are 27 short answer type questions, oul of which any

IS questions are 10 be answered. Each question carries 2 marks. Apart from this,

there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries § marks.
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Use of any electronic appliances is strictly prohibited.
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WUE - A / SECTION - A
TS W¥T / Objoctive Type Questions
0¥ wEawr 18 60 qw & wyw & avyw urr frwew Re ww & frd /@ o wat 1 et

5087t & 3av e grT 7 TU WY frwew wt oMR e v Rafdaa wd

50x1=50

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any
S0 questions. You have to mark your selected option on the OMR-Sheet. 50x1=50

I.  G4x cm? &FRET a@TCt gl &1 AT &

(A) 15 em B) 16 cm
(C) 20cm (D) 17cm
The diameter of a circle with area 64rn cm? is
(A) I1Scm (B) 16 cm
(C) 20cm (D) 17 cm
2. @ Aper @ APOR T @1 ¥ & /D= 70 @ 2R = <1 A Ffafaa § @
FIT-H G & 2 ‘
A LF = 4P (B) LF = 2Q
(C) «D=4«LP (D)  £E=£P

In ADEF and APOR., il is given that #D = ZQ and £ZR = ZE ; then which of the

following is truc ?
(A} ZF=24P
(C) 2D=2P

(B) LF = £Q
(D) LE=ZP

EiicTa) gH 2x+3y=5 T 4v46y=15 ol

A) 3l g (B) ¥ &
¢} @ FA T (D) ¥ R/ i T

The pair of equations 2x+3y =5 and 4x+6y =15 have

(A)  unique solution - (B) infinitely many solutions
(C) no solution (D) none of these

Previous Pathshala
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4 ':“ﬁ‘""-':"'?"*"Il'?ﬂl'-l:i'ﬂt"1‘151'1'1--1]'1?":’1'"""r”]*t-a}‘m;mmmt
A B 2
[y a D 4
"1ICF of 65 and 117 is in the form of 65 m - 117 then the value of m is
AL B) 2
1 R D) 4
2.10 57 20 F Fowte R Howo T UM &
A 10 B 10:1
€y 4 2 (D) 11:1
The ratio of the LCM and HCF of 2, 10 and 20 is
(A) 110 (B) 10:1
€ 4.3 D)y —11:1

6 ﬁz%ﬁcwﬁmﬁgmbmmhﬁ,#{mwm?

(A} Ibh B) 12 +b%+h3
(C)  2lbk (D) - 2(lb + bh+ lh)
If the length of a cuboid is I, width b and height h, then the volume of the

cuboid is
(A)  Ibh B P+ +n?
(C) 21h},

(D)  2(ib+bh +1h)

~1

wnlo®unls®an75°tanB80° =7

A 3 (B) ‘—‘@;

€ -1 o 1
s fr=feates 3 @ #F-w fam adw g 2
(A)  2x’-3x=(x+1) B) x*-2/x+3=0

1
2+2=3-x2%+4 D) x*-2=4
L 3x"+2=3-x) )

n === Previ Pathshal
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Which of the following is a quadratic cquation ?

(A)  2x¥-3x=(xs+1)? B) x?-2/x+3=0
(C) 3x?+42=(3-xP2+4 D) x-sed
X

Y UF @4 R U AF & IR §uE &) afr I Fangt o) aam @, @ =1

AT & IS &
(A} 1:2 B 2:3
(C) 3:2 o 3:1

The bases of a cylinder and a conc are same. If their heights are also same, then

the ratio of their volumes will be

(A) 1:2 B 2:3
(€) 3:2 (D) 3:1
0. 38 W a9 fm fagai A-1,0) 3 B(5,0) A A T R E, &
(A)  (0,2) / B (2,0)
€ (3,0) (D) -~ (0,3)
The point on x-axis which is-equidistant from points A(=1,0) and B(5,0) is
(A)  (0,2) , (B8] (2,0)
(€ (3.0) (D) (0,3)
1. -10.-6,-2,2,...,34 9 @ & 4GATE
(A) 15 _[B) 12 ,
(C) 13 (D) 14
The number of terms in =10, -6,-2,2, ..., 34 is
(A) 15 (B 12
(Cy 13 (D) 14
12, I (6,-5) F oFamE 2
8 6 (B) -5
(C) -6 Dy S5
Previ shala
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The x-coordinate of the point (6, - 5 is

A6 | -5
) -6 D) 5
13, TR TW x(2¢-5)-3 & vpuw @ amd
2 5
W 3 ® -3
-3 5
_,(Ci D) (D) P
The sum of the zeros of the quadratic polynomial x(2x - 5)-3 is
2
(A) 5 (B) —%
3
© -3 © 3

14, 1+2+3+...+nﬂ?ﬁ1’%

A) n;l ; (B) n(n+121(n+2}
Q n[n2+1] ' D) n[n;’l]
1+2+3+..+nisequalto .

(A) . 11_‘2“_1 (B) n[n+1:]2(n+2]
o 2l o 2o

15,  FeieiEd § | $F 959 € 2

3 1

(A) x?-5x+4Jx +3 (B) x2 - x+x2 +1
() J§+7‘= D)  v2x2-3J3x+6
X
Which of the following is a plynomial ?
3 1
(A) x*-5x+4Jx+3 B) x2-x+x2+1
© Vxe= D)  V2x2-3/3x+ 6
x
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16.

17.

18.

19.

12 m $ @Y & T W3 @ R F) o 4y3 m ¥ g w3 w g

W 60° (B) 45°

(C) 30° (D) 90°

The length of the shadow of a 12 m high pillar falling on land is 4¥3 m. The
angle of clevation of the sun is

(A)  60° (B) 45°

(Cy 30° ' (D) 90°

AABC & waaiv favs ¢ fad 2c = 90° € @t cos(A+B) T OH &

W o | R

¥3

(C) >

3 (D)

AABC is a right angled triangle in which £C =90°. The value of cos(A + B) is

A) O (B) 1

. 1 J3
© 3 o) =
fagatt (2,3)wW@ (-2, 3)F AT FI &
A 3 By 4
€ s D). 6
Distance between the points (2,3)and (-2, 3) is
(A) 3 B) 4
C) S D) 6

T A YT UF & R H BRI 3 ;4 F FIE A § a1 IR Segdi 2:3 %
FUE § €1 4o & Al H A ¢
'Jai\/:a:«; | B 9:8

(C) 8:9 Previous. Pal sh )3




The radii of the bases of a cylinder and a cone arc in the ratio 3 : 4. Il they haye

their heights in the ratio 2 : 3, the ratio of their volumes is

Al 3:9 B 9.8
) 8:9 D)y 4:3
20 W 3,4,5, 17T cH WA 6, W ¢ F AR
(&) 1 B) 2
€y 3 (D) 4
Ifthe meanof 3, 4, 5, 17 and x18 6, then the value of x is
(N1 B) 2
€ 3 (D) 4
21 3.4,7,2,7,6,7, 9 % Tgemn ¥
(A) 2 (B) 3
6 7 . (D)
Modeof 3,4, 7,2, 7.6, 7,9is
A 2 (B) (3
)y 7 D) 9
22, 13 3 19 F 99 guiER e R http://www.bsebstudy.com
(A) 13 JB) 16
) 19 (D) 12
Airthmetic Mcan between 13 and 19 is
(A) 13 B) 16
(C) 19 (D) 12

23, I e W 2 - px 44 =0 F YT TR A A pa o

Ay 3 B x4
(C) - +5 (D) ¢2
If the roots of a quadratic equation x% - px+4 =0 are equal then p =7
(A) +3 (B) t4
€ 5 D) 12
110G [BO10-Gun] = pagesofad
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A} a m »
() ab (D) g
Il a and b are prime numbera then LCM of a and b ia
Al a B b
<y ab (D) %
5. g (vyPgymfeg Ak
A Y-y B eyl
© -yl ) x%?

Distance of the point { x, y) from the origin is

A ¢x?-y? B  Jxi+y?

(C) Xz -y2 . (D) x'.'ya
26, Trfafaa 3§ | w1 v qemn R 2
(A) 15 : B 23
) 12 D) 75
Which of the following is & prime number ?
A) 15 B 23
C 12 D) 75
27 (1+tan0+sec0)(1+cot0~cosecl)=?
Ay -1 (B)
icy 1 o) 2
28, afk U gH @) ORI 2q A WA ax W E T, A I QA A0
(A) I B3
() T ‘ (D) WRT

Previous P 5 ala
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: , will be
Il the circumference of a circle is increased from 2 to 44, its aren

(A)  halr (B)  two times

(€)  threc times (D) four times
29, Fr Qg feg & frunrs a1 §

W (1) B (0,0

€ (-1.1) I(D} vl @ i T

W

hich of the following is the co-ordinate of the origin ?

(Al (1,1 B) (0,0)

€ (-1, (D) Nonec of these
30, x=-SH JeE FE W T gy o

(A) 3 & iR (B) — y-38 & AWK
(€ T forg & et (D) T4 F13 =
What typc of straight line will the graphof x = - S be ?
(A} parallel to x-axis - (B) _parallel to y-axis
(C)  passing through the origin (D)  nonec of these
31.  sin(90°-0)=
(A) | sin0 : (B) -sin0
CY"  cos0 (D) -cos0
32.  fFrtefea 4 § & ofdy den b 2
A 2-43 B) 5
2/3
( &0 D) V6
& 3 (D)
Which of the following is a rational number ?
A  2-43 B 5
2/3
C = D J6
(€ 3 (D)

Previous Pathshala
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33, % wech« 130 M coto T X

12
w3 m
s § LI
lfwﬂ-%%.lhmmﬂumllo
(Al % i%
w2 -'33

3 fgan a4 3 g e ¥ ot omd ey & mafex & Lo |

(A} (0. 12) M (6.0) .
€ (6, 4) o106 ©
The co-ordinates of the mud pvunt of the e srpment josrung the potnts AQ, 4)
and B(-) 8) s
N (0,12) m (6,0)
QG (6,-4) th  10,6)
3s.  ferd yw ot wp ey @ et w1t it m ek B )
JA M 2
< 3 Dy 4
How many tangents can be drewn from an external point on a circle ?
(A) ! m 2
{C) J >y 4
sn6y*
o cos 27
LVRRA] »
< 2 > 3

ous Fatnshaila
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a7, feum wgeg x’+-(‘;x-2 % ¥ K
A 3.4 (D)

€ -

s

. .
3 (D)
The zeroea of the polynomial x? + %x -2 are

V[Al -3, 4 (B)

4
© -3

ST N

(D)

38. ®{Uiw sivp 10,7, 4, ... %1 30 g1 4% g ¥

]
N
Sla

:
2
3

Wl

-3
2

none of these

(A)  -55 (B) -66
Cr -77 (D) 81
The 30th term of the AP, 10, 7, 4, ..-is cqual to
(A)  -55 (B) "~ -66
c -77 (D) / 81
3. AR tan0=B &, G cosecd @ AT &
17 &
«m 8 (B) 17
15 ' 17
(C) 17 (D) 15
If tan® =T8'5" then the value of cosecd is
17 | 8
(A) 8 (B) 17
15 17
(C) 17 (l?" 15
40. 19 100 7 T W wEaT w1 A & ,
(A) 4050 - [Bf sos0
(C) 6050 | (D) 7050
~Previeus-Rathshala_
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The sum of all natural numbers from 1 to 100 is

(A] 4050 (B). 5050
(C) 6050 (D) 7050 '
al, QW x, y 9 FGH TR ax + by + c = 0 F fead afman gt v § 2
Ay 1 B 2
JC) E R D) T R

How many maximum solutions of the lincar cquation ax+by+c=0 are
possible in two variables x, y ?
(A1 (B) 2

(C)  Infinitely many (D) nonc of these

to

TR 0T 1,4, 7, 10, .. F1 HH-81 95 88 % 2

J.-".l 26 : By 27
(€} 30 (D) 35
Which term of the A.P. 1,4,7, 10, ...is 88 ?
(A) 26 (B) 27
(€ 30 D) 35
43, fag(-3,-5)FuugdfEme ?
(A) W49 9% B) fiilg R
ey T (0 ¥
In which quadrant does the point (-3, -5 Iic_.?
(A) st quadrant (B) 2nd quadrant
(C)  3rd quadrant (D)  4th quadrant

44. 2cos260° F AH 4

w L B 3

(€)1 : lD}/%

: —PFevious Pathshala
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Value of 2caa? g in

|
@ a ()

-

(C) 1 )

e

45, fﬂ‘ﬂﬂﬂfﬂmﬁumwﬂnmwtﬁ'msmﬂwm'"' ot 7
(A) x?-3x, 10 (B) x2+3x-10
€ x*-3x-10 o) A wE gl

In the following which is the quadratic polynomial whosc sum of zeros js 3 any
product is - 10 ?
(A) x?-3x+10 (B) .~ x*+3x-10

€ x?-3x-10 (D] nonc of these

6. Freferiam 3 4w s, s v A e 76 ) WA S 2

2 1 LB,
(A) 3 B 05
(C 07 ' D) 15%
Which of the following numbers cannot be the probability of an event ?
2
< ~-05
@ 3 (B) |
C 07 ' (D) 15%

47. mmmmmuﬁammmmmmm ?

@81 B) 2
@ 4 o s

The HCF of the smallest composite number and smallest prime number is
(A) 1 B) 2 |

) 4 (D)  none of these

Previous Pat ala
Page 14 ol 2
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48, U I @1 A, BT | em R, ®) GO 4 mm 2T @ o A
AR @ g ¥
100 ‘
A e ® 2 cm
(C) 100x cm (D) 10000 cm
A wirc of 4 mm diameter is made by pulling a metallic cube whose side is 1 cm.
The length of the wire is
A 199 o . B 22 cm
X n
(C) 100x cm (D) 10000 cm
49, 1+tan’0 =
Ay scc? 0 (B) cosec?0
(C) tan? 0 (D) cot?0
50. Tk & WV frel @ @ yenel 4 3 ¢4 @ W g, @ Fh R w
39 &
AT 3:4 B) 4:3
N 9:16 (D) 16:9
If the corresponding sides of two similar triangles are in the ratio of 3 : 4, then
the ratio of their perimeters is
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9
51. UH GHAE Y ABC &) T T 12 em &, dl 3R Fag &l
(A] 642 cm © (B) 643 cm
(€) 3J6 cm (D) 6/6 cm
One of the sides of an cquilateral triangle ABCis 12 cm, then its height is
(A) 642 cm (B) 643 cm |
(€ 3J6 em (D) 6V6 cm
Preyj shala
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52. ﬂfﬂﬂm 3x-y-5m61-2y-k *E’ﬁm?ﬁ-“}
A ke '

B) k0
€ k»jo D) ke-10
If the ©Quautions 3x-yeS and 6x-2y=k h.“'_- no solution, then
A k=g B k=0
(C) k#»10 (D) k=-10
MR 00 g # T P 600 % I w w IgA @ O TR G 8
&gk
(Al 100m (B]  100J2 m
. 200
(€ ok (D)~ 200 m

The length of the Mrng of a kite Mang at-a height of 100 m from the ground and

angle of clevat on 60" e

(Al |00 m ““ IM i
2
€ 'j.:‘? m i 200 m

54, uﬁamﬁmﬁwwwﬁ'ﬁemm«mwtmmmﬂ.
al uedw wviter W s b

(A) /3 em (B) -—3':? cm
(€) 3/3 cm D) 6cm
If two tangents inclined at an angle of 60° are drawn o a circle of radius 3 cm
then the length of cach tangent is
A 243 em 12 3,‘,& cm
€ 3f3em M 6cm
Previous Pathrshata

| 110 ] G |S010-G an Page 16 of 24




§5. 52 AW W CF TR H AW} aw Feaw, mﬂmwmﬁmmh
T H i W IR 63w wfewen feeet & )

o o
(A) 3 (B) %6

] 3
@ 5 @ 39

A card is drawn at random from of a well-shuffled deck of 52 cards. What is the
probability of getting a king of black colour ?

A - B -

13 26
© & D =%
56. Frotatga § 8 #33 coseco & AT K2
W o R
© 7k ) e

Which of the following ia equal to cosec® ?

coal
(A) sin0 B

TR

1
(C) porrer (D

57. U 2mn0e«1.M (3cot?0.3) W TR QW

A 12 B IS
c 9 o 8
If 28in0 = 1, then the value of (3cot? 0+ 3) will be
A 12 B 15
© 9 D) 8

[110) G [5010-Q an Prew hala




58, m*‘mmmmt

Ay 1
> (B)
< o (D)
The Probability of an impossible event is
1
(A) 5 (B)
)0 (D)
50 BRI e & B84 ¥ ‘“'3_.( - 12 & '5:?-‘:‘3-‘ '!F\H-?Zq' ? ?
(Al 32,2 (B)
. -3 1
C —
D APy R

3|

1
3

-3&.7-

)
2

9 | w1 A9

Which of the following are rerocs of %% - J2r-12 ?

A -3J2,J2 iB)

€ 52,2
72 ©
60.  FH & HIW TE A @t R
(A) 9] (B)

(S (D)

-

The largest chord of a circle is

-3./5.?'2-

none of these

TS B F

(A) arc (B) chord
(C) diameter (D) none of these
PreviousPathrsirata—
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qUy¥ - ¥ / BECTION-B
H‘I]ﬂ'&ll W / 8hort Answer Type Questlons
AV BT Iﬁszngaaﬂtrhnﬁ#ﬁm? 1877t & v &1 wiw v & Ry

2 %% Fruifie #1 18x2=30 .
Question Nos. 1 to 27 are Short Answer Type. Answer any 15 questions. Each question
carmes 2 marks. 15x2=30

| e ) O AR SOTE T ¥ - & o a s T a2

L

Three coins are tossed together. Find the probability of getting at least two
hcads.

2. feud W X2 -2x-8 & YR A HAU | 2
Find the zeroes of the quadratic polynomial x*<2x-8.
3~ Ta& U sin? 504 5in? 85° #8in? 10° 4 8in® 80° = 2. 2

Prove that sin? 5° +sin? 85° +8in® 10° +8in® 80°= 2,
4, TH YW anacﬁwacﬁpﬁ%mwﬂmkmqmﬂwaﬂtacaﬁ
. W@H W FE oamnqtm’rmtnfazﬁﬁmhaw 2 (AABC W

qRAm) | 2
A circle is'touching the side BC of AABC at P and touching AB and AC

produced at Q and R respectively. Prove that AQ = (Perimeter of AABC).
5, T R % i 1 S WA 6 R T ARAT 25 cm €| .2
Find the area of a quadrant of a circle i if its perimeter 1s 25 cm. |
6. < qrdl Ft UF aR el A €, mﬁwwwaﬁaﬁmmaﬁi 2

Two dice are thrown togcther. Find the probability of getting even numbers on -

.both dice.

msna.;
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8

P
L

9

10.

17 AR 7iano=4 &1, a1 (7sin0-3cos0)

-

A -

82 2 f5 (3.4 5, 1w st v b ‘

Mrove thay 3+y5 } is an irrational number.

U % @y e x3-4x-1=Q ¥ 7@ FEE)

Using quadratic formula find the solution of the equation x?-4x-1%0.
W TEAR A @ 0z 1) R g dred Ao W o @ A 34 §1 3R

SECRUGES i o f 2

Determine
the 5th

the common difference of an A.P. whose 4th term is 11 and sum ¢f
and 7th terms is 34, http://www.bsebstudy.com

U5 \ABC % AD, BCW &4 §1 oz %% fn (AB? +CD?)= (AC? + BD?). 2

Ina MBC, AD is perpendicular to BC. Prove that (AB? + CD?) = (AC? + BD?).

(7sin0 + 3cos0) 1T W FU 2

If 7tan0 = 4, then find (7sin0 - 3cos0)
cn lind the value of (7Sin0 + 3c0s0)"

__)2./rwwmﬁqﬁmﬁ?ﬁﬁqﬁuz,-mﬂmB(-z.g}ﬁm#l 2

Find a point on x-axis which is equidistant from the points A (2, -5) and
B(-2,9).

13 xmyﬁ@mwﬁaaﬁﬂf{ﬁﬁlx y)L(7,1)TU0(3,5)TRT™ & 2

\

Establish a relation between x and y if the point | x, Y ) is equidistant {rom
(7.1)and (3, S).

/ﬂmsﬁwqmo 23#ammaom 1449 kiaﬁ:wm 161 % @t gwd

& T F®:i) 2

“The HCF of two numbers is 23 and thicit LCM is 1449, If onc number is '161..
then find the other number.

o .
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19.

' 20.

21,

7 b ) o T ax? s bxac & QRE A @ a2 p2 MAT WA S 2

If «,p are the zeroes of the quadratic polynomial ax? + bx +c, then find the

value of a? + p2,

fdeTg & favrom uevifen &1 i @R 272 AT 1032 W RoWo FrTet 2
Using Euclid's division algorithm, find the HCF of 272 and 1032

I I @ Tk g Frret et A 14 om € 2.
Find the surface area of a hemisphere whose diamcter is,14 cm

v @ OF AT #; . 2

tan- 60° + 4 sin? 45° + 3sec? 30° + 5cos- 90°
cosec 30°%+ sec 60° - cot? 30°

Evaluate the following :

tan” 60° + 4 sin? 45° + 3sec? 30° + 5cos? 90°
cosec30°+ sec60° - cot? 30°

T e 2x+5y=lm2x+3y=3ﬁﬁmmﬁﬁﬁ-l 2

Solve the system of cquations 2x+5y=1 and 2x+3y=3 by cross-

multiplication method.

0-16 & gﬁimﬁzﬁﬁl

Convert O- 16 in the form of -g-

T AT U & K 24 cm 3R AR R B 7 om ¥, T 36 R B
T H | ' | 2
Calculate the volume of a right circular cone whose hcight is 24 cm and radius

of the basc is 7 cm.

I 110 I G [3010-G a7 Prevj hala




22,

23

. , At & F
A ABC B St A T AC W W fieg p o g owwm: T
.(3c-1)cm fral

2
tively such that

DE||BC, WfRAD = (4x -3 ) cm, AE = ( 8x - 7 ) cm, BD
CE=(5x-3)cm, M x %1 911 Frwrsty

In MABC, Dand E are two points on the sides AB and AC respec
DE{{BC. If AD = (4x -3 ) cm, AE = (8x-7)cm, oD = (3= 11T and

CE = ( 5x- 3) cm, then find the value of x,

2
fag =3 f& m—"-"—‘—*—'ﬂutmmmnﬂ.
cotA+cotB

mnA+tan B

Prove that ol A+ col B

=tanAtan 8.

U aaBC & ¥ R A(-3.0). B(5,-2) @4l C(-8,5) &1 §¥ hl

A aifau 2

The vertices of a - AABC are A(-3,0), B(5,-2) and C(-8,5). Find the

centroid of the tnangle.

Frefeiga de & 9gere T & 2
Find the mode of the following distribution :
M- HATA 0-20 | 20-40 | 40-60 | 60-80 | 80-r0CF| K60-120
Class-interval .
AR 30 36 52 61 38 33
Frcquency
FAteAtEa g2 &1 9. [ F:F 2
Find the mcan of the following distribution :
- AT 0-10 |- 10-20 20-30 30-40 40-50
Class-interval
AEA 7 8 16 9 10
Frequency '

31 [ F GATHA. 1000 & T ITH a0l F 3R 256000 ¥ Al Y& 1T F<) 2
If the sum of two numbers is 1000 and the difference of their squares is
256000, then find the numbers.
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¥t YT TYY [ Long Anewer Type Questions
FTR W 28 R 38 @ Twre v £ gk @ et o ot & e ) ol oy
e s siw fraifrs 3 4¢8°20
Question Nos 28 10 35 are Long Anewer Type questions. Ansuser any 4 questions. Each

m'f‘ﬂftnn oarmee S mﬂrk_.c ‘ r 5 - 20

28 AdETm m I‘Zy-i!mdx&.fly-2ﬂmﬁ3mmﬂll 5

Draw the graph of pair of equations x ¢ 2y = 3 and 4x+ 3y = 2.

F 60 m T TEE % A 3 smE.anR T At e ) @ g
G & di wes & UE fag @ e & fray & SN W 300 3K
60 ¥ 1 Tt @ Fand ol @l Q fag @ g0 e A 5
Two poles of cqual-heights arc standing opposite to cach other on cither side of

the road, which is 60 m wide. From a point between them on the road, the
angles of clevation of the top-of the poles arc 30° and 60° respectively. Find the

1'LJ

heights of the poles and the distance of the point from the poles.

30, Faz e gu @ 21w enitEs & W @ e et 39 &
= | gF AL 5
Prove that the linc scgment joining the points of contact of two parallel tangents

of the circle passes through the centre of the circle.

3).  UF T 38 50 @A TE @ o et €13k WS 10 km/he 3w o T
#1F1, A 30 f1aa wHe @ 2 92 #0 R R AR 10 km/hr W TR AR, & W
fAgd a9a @ 3 92 3y @) gl R ag @ R g0 W S 5

A train travcls a distance with cqual speed. I the train had run 10 km/hr
faster, it would have taken 2 hours less than the scheduled time and if it had
run 10 km/hr slower, it would have taken 3 hours more than the scheduled

time. Find the distance travelled by the train,
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‘ -~
N &t 'y _lanA cot A
(1-cotA) ' T-tana) "1+ tanA ¢ cotA). ’

I‘)rm.c lh.l t.n A . COI A
il-cotA) (1 - tan A)

=(l+tanA ¢ cot A).

T K 0 PR o o o e o el g G G R & ey
¥ 7 60' B, A op W FHart wm wt $
if the angle between two tangents drawn on a circle with radius a and centre
O from an exterior point Pis 60°, find the length of OP.

T ® STEEL 28 R 20 ke &R Fw § S AR SE 262 5 4 km A
w?.?:mﬁwmﬁﬁﬁaﬁmmmﬁmmﬁl 5
Nisha can swim downstream 20 km in'2 hours and upstream 4 km in 2 hours
Find her speed of swimming:in still water and the speed of the current.

35 cm T @1 9 WY | 70 99 W G §1 WeRE Wi 9 SS9 6

S

Draw a circle of radius 35 cm. Draw two tangents to the circle which are
perpendicular to each other.
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